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Instructions for the Candidates
1. Write your roll number in the space provided on the top of this page.
2. This paper consists of fifty multiple-choice type of questions.

3. Atthe commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to
open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.

4. Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Example : (A) ‘ D

where (C) is the correct response.

5. Yourresponses to the questions are to be indicated in the OMR
Sheet kept inside the Paper | Booklet only. If you mark at any
place other than in the ovals in the Answer Sheet, it will not be
evaluated.

Read the instructions given in OMR carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

9. You have to return the test OMR Answer Sheet to the invigilators
at the end of the examination compulsorily and must NOT
carry it with you outside the Examination Hall.

You can take away question booklet and carbon copy of OMR
Answer Sheet soon after the examination.

11. Use only Blue/Black Ball point pen.

12. Use of any calculator or log table etc., is prohibited.

13. There is no negative marks for incorrect answers.
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ECONOMICS
Paper -Ii

Note : This paper contains fifty (50) objective type questions. Each question carries
two (2) marks. All questions are compulsory.

Q. No. 1 to 10 : Read the following questions 4. Thatthe property, indifference curvesnever

and choose the correct answers from the
. . . intersect is based on the assumption of
options given below these questions.

(A) Non-stability

1. Identity is also known as (B) Transitivity
(A) Function (C) Both (A) and (B)
(B) Production function (D) Diminishing marginal utility

(C) Proportional changes o
5. The downward slope of indifference

(D) Accounting relationship curve indicates that

(A) Consumer can have more of both

2. Marshallian concept of elasticity of
goods

demand is known as
(B) Consumer can have only less of

(A) Price elasticity of demand both goods
(B) Income elasticity of demand (C) Consumer cannot have more of both
goods

(C) Substitution elasticity of demand
(D) Consumer has less income to buy

(D) Cross elasticity of demand
both goods

3. Additional quantity bought due to on
additional increase in real income is

6. Identify the correct form of
Cobb-Douglas production function.

(A) Price effect (A) Q= AK® Lb
(B) Substitution effect (B) P=AL?K®
(C) Income effect (C) B=K" AL®
(D) Consumption effect (D) K=BPAL®

K-0313 @ Paper I



O AR
7. B3 3NTDNGE, 03RRI FOTTIVCAWT
@qﬁrm@d NRTCDY, ?
(A) RTZTR G, Te3es
(B) mogpeor sudiaen
(C) mowpear Fagoeed
(D) ¥-309 333

8. RTURD NYZCNT mi Q0TS
(A) @0ez00 B2 BARFCL =0T
(B) 23 02 DedhF RREUTITT
BTONT T

(C) 2, T T 0eddF
TRBLIBITOT STIVCINT IRTD

(D) 209203 308 D WRTITITT
STHONT T

9. ‘TR 0D e DY CI0E FOTIFT,
Sofewsonlpeciapieaieievseomlytestola
e@dodn

(A) & B8 BoWoRATOE T8
%@m@dﬁ%d@ﬁd@d

(B) wTedE Foe0nTeE wEoE
%@m@a’é%d@qdagd

(C) W& T ForoHITOZ TOTREDE
%@m@m’%@écﬁ@qdogd

(D) ©moed?, BoroQAT0E SoTpRear
%@m@dﬁ%d@qmﬂwgd

10. ‘5090300 STROD BZ,'5Y) B3 FINTFT FROTY,
TOTOSRT.

(A) BFareso

(B) 2 o335
(C) 200 yeEmna®
(D) «w5e. & g er

Total Number of Pages : 24
B3 "oz, 1100520 : NS @%ﬁeﬁ@( Wl, 39N
BREI0E Teip08 ROCIRT HuBTaR 03y
@:

g

11. mesmo’ SBSET TEITAT eﬁmmﬁd%
RIFATIRTD

a) ©o°. 23 T

b) &. om@Ees

C) T TOCFT

d) . o VDS RS
EXENAH

(A) a) ==y b)

(B) a) == c¢)

(C) b) &=y ¢)

(D) a) =>2yd)

12. U@%@OSD PZHCI T3 3e. 6.0 daég

OB eméwai 9305985y 3e. 3.0 =T33,
T, CRT - TREIT® TRTWOOI NWTORCE,
SRFBIC LITTeIi0 )
a) 0.5%

b) 2%

c) 18%

d) 3%

@Jaccsi :

(A) a) B3y b)

(B) a) 32 ¢)

(C) b)

(D) b) ==2d)



7. Which one of the following is not an
assumption of Classical Economics ?

(A) State intervention
(B) Full employment
(C) Perfect competition

(D) Price-wage flexibility

8. Average propensity to save is
(A) Ratio of savings to investment
(B) Ratio of price to disposable income

(C) Ratio of total income to disposable
income

(D) Ratio of savings to disposable
income

9. The ‘liquidity trap’ refers to a situation
when the demand for money is

(A) Infinitely elastic with respect to rate
of interest

(B) Infinitely elastic with respect to
income

(C) Perfectly elastic with respect to rate
of interest

(D) Perfectly inelastic with respect to
income

10. ‘Permanent income’ hypothesis is
identified with

(A) Dusenberry

(B) J. M. Keynes
(C) Milton Friedman
(D) M. J. Farrel

K-0313
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Q. No. 11 to 20 : Read the following questions
and select the correct option for the answer from

the list given below :

11. Monetary dimension of business cycle
is discussed by

a) R. G. Hawtrey
b) D. Ricardo
c) Von Hayek
d) P. A. Samuelson
Codes:
(A) a)andb)
(B) a) and c)
(C) b)andc)
(D) a) and d)
12. If the national saving rate is 6% and the
capital output ratio is 3%, then as per

Harrod-Domar Model prediction, the
economy will grow at

a) 0.5%
b) 2%
c) 18%
d) 3%
Codes :
(A) a)and b)
(B) a) and c)
(C) b)
(D) b) and d)
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13. Capability approach to human

development is given by
a) M. Haq and Amartya Sen
b) Romer and Lucas
c) T.R. Schultz and Sen
d) A. Lewis and Leibenstein
Codes :

(A) a)

(B) a) and b)

(C) c)andd)

(D) d)and a)

14. Indicators of Monetary Policy are

a) Money base
b) Wages
c) Rent

d) Bank liabilities and assets, short

term returns
Codes :
(A) a) and b)
(B) b) and c)
(C) a)andc)
(D) a) and d)

Total Number of Pages : 24
15. Sustainable development implies

a) Inter-generational equity
b) Intragenerational equity
c) ‘0’ growth rate
d) Stable growth rate
Codes :

(A) a)andc)

(B) a) and d)

(C) b)andc)

(D) a)

16. Sabina Alkire and James Foster

developed
a) Human Poverty Index
b) Multi-dimensional Poverty Index
¢) Human Deprivation Index
d) Gender Development Index
Codes :

(A) a)andc)

(B) b)andc)

(C) a)and d)

(D) b)
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17. The concept of ‘Knife Edge Growth’ was | 19. William Baumol, in his Inventory Theory
popularised by Approach claimed that holding cash

involved
a) Solow

a) Brokerage fee
b) Solow and Marx
b) Postage charges
c) Arrow and Lewis
c) Interest charges

d) Harrod
d) Interest - income
Codes:
Codes :
(A) b)andc) (A) a),¢), d)
(B) a)andd) (B) a),b),c)
(C) d) (C) b),d), a)
(D) b),c),d)

(D) b)and a)

18. The concept of organic composition of 20. The components of Tariff Rate Quota are

capital is found in the Book a) Anover Quota Tariff
a) General Theory b) A Quota that defines a maximum
volume of imports charged by the

c .
b) Economics nation within Quota Tariff

¢) Das Capital ¢) A within Quota Tariff
d) Wealth of Nation d) An equal Quota Tariff
Codes:: Codes :

(A) b) and c) (A) a),b),d)

(B) a) and d) (B) a),c),d)

(C) a) and b) (C) b),c),d)

(D) ©) (D) a),b),c)
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Q. No. 21 to 30 : Read the following
questions and select the right combination of
Assertion (A) and Reason (R) from the
codes given below :

21. Assertion (A): Product differentiation
is the characteristic
feature of Monopolistic
competition.

Product differentiation
helps firms to increase
sales and revenue.

Reason (R) :

Codes:

(A) (A) is right, (R) is a wrong
explanation

(B) Both (A) and (R) are correct, (R) is
the correct explanation of (A)

(C) Both (A) and (R) are correct, but (R)
is not the correct explanation of (A)

(D) Both (A) and (R) are correct, but (R)
is not the reason

22. Assertion (A): Interestrate varies
directly with the
money multiplier.

Reason (R) : Savings are
encouraged and
supply of money
increases.

Codes:

(A) (A)is correct and (R) is correct, but
(R) is not the right explanation of (A)

(B) (A) is correct and (R) is the correct
explanation

(C) (A)iscorrect, but (R) is an incorrect
explanation

(D) (A)isincorrect, but (R) is correct

K-0313
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23. Assertion (A): Deflating is adjusting a
value that is inflated.

: To get the real money
value.

Reason (R)

Codes:

(A) (A)is correctand (R) is correct. But
(R) is not the right answer for (A)

(B) (A) is correct and (R) is the right
answer

(C) (A) is correct and (R) is incorrect
(D) (A)isincorrect, but (R) is correct

24. Assertion (A): Geometric Mean can
not be calculated if a
particular value in a

series is ‘0.
Reason (R) : The values will be

unequal.
Codes:

(A) (A)is correct and (R) is correct, but
(R) is not the right explanation of (A)

(B) (A) is correct and (R) is the right
explanation

(C) (A)is correct, but (R) is incorrect
(D) (A)isincorrect, but (R) is correct

25. Assertion (A): Lorenz curveis a
graphic method of
studying dispersion.

Reason (R): Lorenz curve is used in
the study of inequality
in the distribution.

Codes :

(A) Both (A) and (R) are correct, but (R)
is not the correct explanation of (A)

(B) (A) is correct (R) is not correct

(C) (A) and (R) are correct and (R) is
the correct explanation of (A)

(D) (A)isincorrect and (R) is correct

Paper Il
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26. Assertion (A): Provision of subsidies

for ment goods is

justified.

Reason (R) : Social benefits exceed
individual benefits in
case of ment goods.

Codes:

(A) Both (A) and (R) are right, (R) is the
right explanation of (A)

(B) Both (A) and (R) are totally incorrect
(C) (A) is correct, but (R) is incorrect

(D) (A)is wrong, (R) is correct

27. Assertion (A): Cost differences are the

basis of international

trade.

Reason (R) : Cost differences are
due to different factor
endowments.

Codes:

(A) Both (A) and (R) not related

(B) (A) and (R) are correct and (R) is

the correct explanation of (A)
(C) (A) is correct and (R) is incorrect

(D) (A)is not correct and but (R) is true

K-0313
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28. Assertion (A): Devaluation in a country
boosts in exports.

Reason (R) : Devaluation makes the
country’s exportables
cheaper.

Codes :

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is

not correct explanation of (A)
(C) (A)is true but (R) is false

(D) (A) is false but (R) is true

29. Assertion (A): Rate of Interest

influences the rate

and pattern of

investment.

Reason (R) : Saving is a function of
level ofincome and the
rate of interest.

Codes:

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A)
(B) (A)istrue, but (R) is not correct
(C) Both (A) and (R) are not true

(D) (A)is false but (R) is not correct
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31. 23eled AT 0THE BERTRTI), THOTER.

a) BWowres Jead

b) InRFFT FeRFeHd nggoé

C) TOWFE B0, BT eIeRBD R)w%oé
d) oRRF Lo %m@oé
Bnew®

(A) a),b),c),d)

(B) b), a),d),c)

(C) c),d),a),b)

(D) d),c), a), b)
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TSR

a) ORI %m@oé

b) TeaT T[ORMED ATHOTT FeoW T S
C) HERWITN T ;%cr%oé

d) Tozmwes R;w%oéd $BO°T 38

BT
~N

33. 35 FINT WO ATOBNY TDEDRTRBI
TOTO3R.
a) WTT B¢ IOD A0S
b) TZReoT RO A0
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C) 3IF FodR T[oPT 20
d) =33 eﬁzpe%@@ AT
Bne

(A) b),c),a),d)

(D) c).d), a),b)



30. Assertion (A): Agriculture is the main
source of livelihood of

people in India.

Reason (R) : Measure for agricultural
development should be
undertaken.

Codes :

(A) (A)is incorrect and (R) is correct

(B) Both (A) and (R) are correct and (R)
is the correct explanation of (A)

(C) Both (A) and (R) are correct, but (R)
is incorrect explanation of (A)

(D) (A) is correct, but (R) is incorrect

Q. No. 31 to 40 : Read the questions and
select the correct sequence from the codes
given below :

31. Identify the chronology of the theory of
demand.

a) Indifference curve
b) Marshal’s theory of demand

c) Weak preference ordering theory of
demand

d) Revealed Preference theory
Codes:

(A) a), b),c), d)

(B) b),a),d),c)
(C) c),d),a),b)
(D) d), c),a),b)

K-0313
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32. |dentify the chronological order of the

following theories of Money.
a) Baumol’s theory
b) Cambridge version of quantity theory
c) Tobin’s theory of money
d) Fisher’s version of the quantity theory
Codes :
(A) a),b),c),d)
(B) b),c),d),a)
(C) c),b),a),d)
(D) d),b),a),c)
33. Identify the following growth theories in
chronological order.
a) Big Push theory
b) Balanced growth theory
c¢) Critical minimum effort thesis
d) Unbalanced growth theory
Codes :
(A) b),c), a),d)
(B) a),c),b), d)
(C) d),b),c),a)

(D) c),d),a),b)
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@

PRRTIT SROFRESFOR, 2TOWO.
a) NABARD

b) IDBI

c) SIDBI

d) IFCI

(C) c),a),b),d)

(D) d),b),a),c)

35. =8 SIS eﬁe@mo’d T8 NS 203N
@&gmsééojadl TSR,

a) WomRY Y
b) ©&3E Y Y
c) @Y ei’§

d) BT LT &,

(D) c),b),d), a)

36.

37.
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TREARTEC BRR Y Toeny
OROTETOLTFOITY, TOTOER.

a) 9030 TWGE T I TTLD
b) 0T TICT T

C) TpOTZE YUEdFE B BT
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d) 00 THFeTOR
BRCT®

~

(A) b),c),d),a)
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a) IO -WOT® ATOZ
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Bne®
(A) a),b),d),c)
(B) b),d),c),a)
(C) a),c),b), d)

(D) d),b), a),c)



34. What is the chronological sequence of
the establishment of the following

institution in India ?

a) NABARD

b) IDBI

c) SIDBI

d) IFCI

Codes :
(A) a),c),b), d)
(B) a), b),d),c)
(C) c),a),b),d)
(D) d),b),a),c)

35. Identify the following items of the balance

of payments accounts in sequence of

order.
a) Capital Account
b) Official Settlements Account
¢) Current Accounts
d) Errors and Omissions
Codes:

(A) a),c),b), d)

(B) d),c),a), b)

(C) c),a),b),d)

(D) c),b),d),a)

K-0313 D)
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36. Identify the following Rostow’s stages of

growth sequentially.
a) Pre-conditions of take-off
b) Traditional Society

c) Drive to maturity and age of high mass

consumption
d) Take-off
Codes:
(A) b),c),d),a)
(B) a),c),d),b)
(C) a),b),c),d)
(D) b), a),d),c)

37. ldentify the chronological order of the

International Trade theory.
a) Hecksher-Ohlin theory

b) Adam Smith’s Absolute Advantage
theory

c) Heberler's opportunity cost theory

d) Comparative cost advantage theory of
D. Ricardo

Codes :
(A) a),b),d),c)
(B) b),d),c),a)
(C) a),c),b),d)
(D) d), b),a), c)
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a) GReID I
b) =8 Tes
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39. B3 FNTPYNY BOCTRT FoLDTTIOESTOITY

TOTIER.
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d) §eE o’ 03 39030 HTED TR0

40. $PTSEOR S5 INS TDHF PN TV

TERRFEETEOIRY, TOTIER.

a) 20 203N¢ FOFTI

b) Zes=o0g M9 AEE® C3eewTe
c) NAREGA

d) T T8

#Jaczzi:

(A) a),b), c),d)
(B) a),¢),b),d)
(C) d),a),b),c)
(D) d),b),c), a)
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g% So@s’; 4150350 : 3N @’%ﬁ@dg{ 2.0,
QTR TLMLOT BOOINT BRI, VR

BREEINT FTCR0T MITHE :
41. S%—1 c_d%—2
a) ROHeE, HRFTR 1) dcdpeotsp®
QoD
b) svzasmoon 2) SRRFS®
TRPTIITS
=0 29,0
C) JFeme Tednd  3) ©w@o 32°
d) #md@@f&i 4) ST LT
é.mwz :
a b c d
(A) 1 3 2 4
(B) 3 1 2 4
c 1 3 4 2
(D) 3 1 4 2
42. 5&%—1 m;—z
a) TOTPeoF Fper 1) FORRW RO
b) g, 2) TR0 203
C) BowS AT 3) @@éwééo:b
TR0
%)
9 4 332
é.raecsz :
a b c d
(A) 2 1 4 3
(B) 1 2 3 4
(C) 2 4 1 3
(D) 4 1 3 2



38. Identify the following in a sequential order.
a) Metallic money
b) Commodity money
c) Plastic money
d) Paper money
Codes:
(A) b),a),d), c)
(B) a), b),c), d)
(C) a),d),b),c)
(D) b), d),a),c)
39. Identify the correct chronological order of
the following.
a) Relative income hypothesis
b) Keynes’ consumption function
c) Life cycle hypothesis

d) Friedman’s permanent income
hypothesis

Codes:
(A) a),b),c),d)
(B) d),b), c),a)
(C) b),a),d),c)
(D) ¢),a),b),d)

40. |dentify the order of sequence of the

following events in India.

a) 20 Point Programme

b) Prime- Minister Grama Sadak Yojana
c) NAREGA

d) Green Revolution

Codes:
(A) a),b),c),d)
(B) a),c),b),d)
(C) d),a),b),c)
(D) d),b),c), a)
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Q. No. 41 to 50 : Read the following questions
and match the correct pair from List — | and II.
Use the codes given below for answering :

41. List-1 List— I
a) Law of Absolute 1) Leontif
Advantage
b) Factor proportion 2) Marshal
and Trade
c) Offercurves 3) Adam Smith
d) Opportunity cost 4) Heberler
Codes:
a b c d
(A) 1 3 2 4
B) 3 1 2 4
Cc 1 3 4 2
(D) 3 1 4 2
42, List-1 List— Il
a) Perfect 1) Cournot
competition Model
b) Keynes 2) Time Element
c) Oligopoly 3) Uncertainty
theory
d) Knight 4) Liquidity
Codes:
a b c d
(A) 2 1 4 3
B) 1 2 3 4
(C) 2 4 1 3
(D) 4 1 3 2
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43. Bed - 1 B[, — 2
a) FpgFodn 3;’3536 1) 2 w. Je
o] 25@@503352{
b) o3yned u@d&l 2) ©wo JT°
SR IROTS
c) drad:%@ioﬁo 3) &. oTRF
37,8303
SRtV eve )
SRRV,
d) riesd BSRTER, 4) WY AT
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3033, BRI 33
T3 1ieed
W3 QT
TORENT
éJacwi :
a b c d
A) 1 4 2 3
B|B) 1 4 3 2
C) 4 1 3 2
(D) 4 1 2 3
44. ﬁéﬁ}—1 = w—2
a) WROD FwrEdew 1) BEF DTRE,
Eow%oa’
b) 22603 R0 2) DFONT L3T°
WO ATOT
c) wach 3) 2. BWR.
dReSee® Fow® RCCACIT®
%w%oé
d) SRTRO f%m@oé 4) ¥ 2. 3,
imwi :
a b C d
(A) 2 3 1 4
B) 3 2 1 4
(C) 4 1 3 2
(D) 2 3 4 1
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45. D3~ 1 B3, - 2
a) Sppura 1) X>M>M,

b) Cﬁ@%ﬁ :’%W 2) Yyx = Vxy

¢) RBRo0d 3) X_s;ﬁ
d) ésés’n; 4) B,>3r>0
Boe®
a b c d
(A) 3 2 4 1
(B) 4 1 2 3
(C) 2 4 1 3
(D) 4 2 3 1
46. Be3~ 1 Ty, - 2
a) DOTORD e 1) 3oriod o

b) o0 Qed 2) 2BNOT TED

C) M e 3) @ B TP
d) Bredecd Jed 4) w08 o
EICNAE
a b c d
(A) 4 3 2 1
(B) 4 2 3 1
(C) 38 2 1 4
(D) 2 1 4 3



43. List-1

a) Supply creates
its own demand

List— Il
1) J. B. Say

b) Choice reveals
preference

2) Adam Smith

c) Division of
labour is limited
by the extent of
market

3) D. Ricardo

d) Corn is high, not 4) Samuelson

because rent is
paid but rent is
paid because earn
is high

Codes:

(A)
(B)
(©)
(D)

AN g
N N 5
DWW o
W NN Wa

44, List— Il

1) Knut Wicksill

List—1
a) Abstinence
theory of interest

b) Time preference 2) Irving Fisher
theory of interest

c) Loanable funds 3) N.W. Senior
theory of interest

d) Liquidity
preference
theory of interest

4) J. M. Keynes

Codes:

(A)
(B)
(©)
(D)

N AW DN DO
W = N W T
A W =2 20
- N A b~ O

K-0313
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45, List -1 List— 1
a) Leptokurtis 1) X>M>M,
b) Positive 2) Yyx = Vxy
skewness
c) Co-relation 3 X——H
svXn-1
d) ‘t’ Test 4) B,>3r>0
Codes:
a b c d
(A) 3 2 4 1
B) 4 1 2 3
(C) 2 4 1 3
(D) 4 2 3 1
46. List -1 List— 1l
a) Monetary policy 1) Taxrate

b) Trade policy 2) Margin money

c) Credit policy 3) Imports and

exports

d) Fiscal policy 4) Bank rate

Codes :
a b c d
(A) 4 3 2 1
(B) 4 2 3 1
(C) 3 2 1 4
(D) 2 1 4 3
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a) =08 w0 1) wvetmonne
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(D) 4 3 2 1
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) a b
(A) 2 3
B) 2 3
(C) 3 2
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Ty - 2
1) 2006
2) 1995
3) TdeazoRd esodeen

4) 080D
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d
4
3
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AU
47.  List-1  List— Il

a) Free Trade Area 1) No
restrictions
on trade and
factor
movement

b) Customs Union 2) Trade is Free
and no customs
duties

¢) Common Market 3) No customs
duties ; duties
onnon-member

d) Economic Union 4) Advanced

stage of
integration
Codes:
a b c d
A) 2 1 3 4
(B) 3 2 4 1
(c) 2 3 1 4
(D) 1 3 4 2
48. List—1 List- I
(Committee) (Subject)
a) Tondon 1) Capital
Committee financing

b) Rakesh Mohan 2) Infrastructure
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49. List—1 List— Il
a) Mid-day-meal 1) 2006
Scheme
b) Implementation 2) 1995
of M-NREGA
c) Cash Reserve 3) Finance
Ratio Commission
d) Divisible taxes 4) Reserve Bank
of India
Codes:
a b c d
A 1 2 3 4
B) 2 1 4 3
Cc) 4 2 3 1
(D) 8 4 1 2
50. List -1 List— I
a) Phillips A. W. 1) Wage Fund
b) Findlay 2) Trade-off
Shirras between
wage and
unemployment
c) Keynes 3) Taxable
capacity
d) Mills J. S. 4) Liquidity trap
Codes :
a b c
A) 2 3 1 4
B) 2 3 4 1
(C) 38 2 1 4
(D) 3 2 4 1

Committee development
c) Narasimham 3) Financial
Committee Sector Reforms
d) Omkar Goswamy 4) Industrial
Committee Sickness
Codes:
a b c d
A 1 3 2 4
B) 4 2 3 1
< 1 2 3 4
(D) 4 3 2 1
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